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/ACB = 180° — 138° = 42°
AABC = o|sH4aZgo|Bng
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(ACB = 5(180° - 62°) = 59°
SoLx =180° - 59° = 121°
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ABDE = ABDC(RHS®&§) ©|E2,
(EBD = /CBD = 25° , ABDE 9|4 /x = 65°
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(1) AQOP = AROP(RHS&E) 0] B= /x = /QOP = 180° -
(90° + 63°) = 27°

(2) AQOP = AROP(RHS %) 0] B & /x = /QPO = 180° -
(90° +39°) =51°




"3} 2ol /B =90° ©]1l, AB = BC ¢l #]Ztol5+# J# ABC 9]
T EAG A, CoM HAHE B & A= 24 o Yl =49 Hhs
ZYZ¥ D, E gt 512k AD = 10cm, CE = 6cm ¥ UH, o oé CDE
o] Hol?
A
\
\
\
\
\\ l
10cr\n E
) 6 cm
\
\
B C
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(ABD + /BAD = 90° ©|1, /ABD + /CBE = 90° o|B &
(BAD = /CBE

2 Z}A 7l o] HiW o] Zlo|7} 23 gt Zho] Av|7 gomg
AABD = ABCE ©]t}.

AD = BE = 10cm ©]2, BD = EC = 6cm ©|22 DE = 4cm
oltt.

A7} CDE ©] Wol=

% X 4 x 6 = 12(cm?) ©|t}.
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AABD = ACAE (RHA &5F)clB=2
BD = AE, CE = AD
~BD-CE=AE-AD =2




9. o5 2¥lA /ABC = /ACB, /BAE = /BEA, /ADB = 90° ©]t}.
olu} LEAD + /DBC ] 27| Fs}ofat,
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O Al A& ¥7)8] B BlotH a+b+
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x+y=135°

5. b+d=/EAD + /DBC = 180° - 135° = 45°
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10. o8 T4 478 ABC = AB = AC ¢l o|5H Azt ol
47Zt4 CDE = CD = CE 9l o]5®¥4Ztgolt}t. /ABC = 70°,
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/DBC = /DCB = za 2} 5}
/DBA = /DCA =70° - za
LA =180° - (70° 4+ 70°) = 40° = /DAB + /DAC
70°—2a+70°—-za=40°
. Za = 50° /DCA =70°-50°=20°
/CDE = zx 2} o}H
2/x+50°+20°=180°
/x =55° . /CDE = 55°
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/BDC = /BCD = /a 2} 5}
(ABC = /ACB = 2/a

LACD = 3/a = 180° — 84° = 96°
s La = 32°

LA = 84° — 32° = 52°
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/COD = /a =t 5}H
(1) ACOA ¢4 AC = OC °|E&
(DAC = /DOC = Za
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(3) Z/BOE = AOAB 9] 9]Zfo]2 2
/BOE = /OAB + /OBA
= /la+2/a=3la
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